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0 M 0%
o o o o o [Te] o Tp] o [Te] o Tp] o [Tp] o [Te] o [Tp] o [fp) o
| — ~— N N ™ ™ < <t [Te] Te] © © r~ r~ [e0] [e0] (=] (=] o
Shorg 289338288 R_RRR 28,
1110 ELEREEKEREEL(%)
(#fEHE] (LK)
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H16 ARV LBRUZDILEY 0.01mg/L
H17 KERVZDIEEY 0.005mg/L
H18 LU RUZDILEY 0.01mg/L
H19 14 8 6 6 6 MERUVZFDILEY 0.01mg/L
H20 14 8 6 6 6 ERXRUZEDEEY 0.01mg/L
NEZOLIEESY 0.05mg/L
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H20 30 19 15 11 8 IVAVRUEDEEY 0.05mg/L
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1T 7.7 2.8 0.9 0.1 0.0
1-3 9.1 2.8 09 0.2 0.0
3-10 8.5 1.9 0.7 0.1 0.0
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H19 32.8 0.2 0.0 0.0 0.0
H20 36.4 3.2 0.0 0.0 0.0
#A7k A ARl (H20)
(BA) | 95%1E | 75%fE | 50%fE | 25%fE | 5%fE
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3-10 40.8 8.5 0.0 0.0 0.0
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H17 674 282 192 137 78
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H19 676 279 192 140 82
H20 692 280 194 142 86
#A7k A 851 (H20)
(BA)| 95%1E | 75%{E | 50%{E | 25%fE | 5%{E
1R [ 1,136 348 216 156 88
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